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CLASS -V
SUBJECT - MATHEMATICS
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. Whatis at the place of hundreds in the number[435]?

(4]
(5]
(3]
(2]

Find out the nearest hundred for[305].
[500]
[400]
[300]
[200]

[68]has[8] ones and ____ tens.
(6]
(2]
[4]
(8]

Add the numbers given in the box.
[95]
[85]
[65]
[75]

35 18

22
Add first four numbers from the table of 2. ‘—-———’

21
22
20
25

On subtracting the sum of 47 and 16 from 125, we get:
72
75
62
60

65-20-6 is same as:
35
36
39
41

A chair has 4 legs. How many legs do 10 chairs have?
36
50
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C) 40
D) 30

9. Fillin the blank circle with the suitable number. @@O@
22

A)

B) 25
C) 23
D) 24

10. Divide the product of 14 and 12 by 8.
A) 23
B) 24
C) 21
D) 25

11. 35 hours is greater than:
A) 101 hours

B) 105 hours

C) Shours

D) 110 hours

12. Identify which one of the following is correct?

AN
VN

005 . O
5 00C <00

o POOP>HRRHE
» 68 > 0688

13. How many hours are there in 4 days?
A) 86 hours

B) 96 hours

C) 116 hours

D) 113 hours

14. 1 hr 5 minutes after 4 : 00 is:
A) 6:05
B) 5:05
C) 56:50
D) 5:30

15. 7 minutes means times of 60 seconds.
A) 7
B) 8
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C) 10
D) 12

16. Arrange the following number in descending order. 456, 564, 645, 654
A) 456 > 564 > 654 > 645

B) 564 > 654 > 645 > 456

C) 654 > 645 > 564 > 456

D) 564> 456 > 645 > 654

E) None of these

17. Add Rs. 456.50 + Rs. 345.75=_.
A) Rs. 802.25

B) Rs. 800.20

C) Rs. 768.30

D) Rs. 800

E) None of these

18. Sum of 25 and 75 is equal to the sum of
A) 50+25

B) 25+25+25+25

C) 50+75

D) 25+ 50

E) None of these

19. Subtract: Rs. 569.90-Rs. 450.25.
A) Rs.122.35

B) Rs.119.65

C) Rs.120.40

D) Rs.115.25

E) None of these

20. What should be multiplied with the number 58765 to get zero?
A) 2

B) 1

C) O

D) All of these

E) None of these

21. What is the total number of buffaloes in the given map? Scale: " =
1000

A) 1000

B) 4000

C) 2000

D) 6000

E) None of these

22. At a parking, a board shows the following information:
Parking
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Scale <« =500 vehicles

_u, A
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6t
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o/, S sy
Auto LS O Lo
What is the strength of the parking place?
A) 4000
B) 5000
C) 6000
D) 9000

E) None of these

23. What should be added to 800 gms to make it equal to 1 kg?
A) 200 gm

B) 300 gm

C) 900 gm

D) 850 gm

E) All of these

24. How many triangles are there in the figure below?
A) 3

B) 8

C) 4

D) 6

E) None of these

25. How many angles are there in the figure below
A) 5

B) 4

C) 6

D) 3

E) None of these

26. Evaluate: 15+4-(28-7)
A) -1

B) -3

C) -2

D) -4

E) None of these

27. Subtract:1-1/2
A) O

B) 1

C) 1/2

D) 3
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E) None of these

28. Inverse process of addition is:
A) Subtraction

B) Multiplication

C) Division

D) All of these

E) None of these

29. What is the difference of place and face value of 4 in the number, 34517
A) 404

B) 396

C) 400

D) 963

E) None of these

30. 25-5=[]-5

A) 20

B) 25

C) 30

D) 35

E) None of these

31. There are 100 paise in a rupee. How many paise are there in Rs. 5?
A) 50 paise

B) 500 paise

C) 5000 paise

D) 50,000 paise

E) All of these

32. Direction:

- AAAAAAA
Haryana W

Uttar Pradesh /ﬁ/ﬁﬁm
Rajsthan ’M’

Madhya Pradesh M’%’

Other ﬁ

One /% represents 10 lakh ton of wheat. In the above pictograph, wheat produced by
different states of India during the year 2010 has been shown.

Which one of the following states is the leading state in wheat production in India?

A) Punjab

B) Haryana

C) Uttar Pradesh

D) Rajasthan

E) None of these
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33. Direction:

Punjab WM
Haryana W

Uttar Pradesh ﬁﬁﬁm
Rajsthan /M

Madhya Pradesh M’ﬁ

Other /ﬁ,

One /% represents 10 lakh ton of wheat. In the above pictograph, wheat produced by
different states of India during the year 2010 has been shown.

Find the total amount of wheat produced in India in the year 2010.

A) 200 lakh ton

B) 230 lakh ton

C) 280 lakh ton

D) 320 lakh ton

E) None of these

34. Direction:

Punjab WM
Haryana W

Uttar Pradesh ﬁﬁﬁm
Rajsthan M

Madhya Pradesh Mﬁ

Other /ﬁ

One /% represents 10 lakh ton of wheat. In the above pictograph, wheat produced by
different states of India during the year 2010 has been shown.

Which one of the following states produced 60 lakh ton wheat in the 2010?

A) Punjab

B) Haryana

C) Uttar Pradesh

D) Rajasthan

E) None of these

35. Direction:
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Punjab WM
Haryana W

Uttar Pradesh ﬁﬁﬁw
Rajsthan M

Madhya Pradesh M’ﬁﬁ’

Other ﬁ

One /g" represents 10 lakh ton of wheat. In the above pictograph, wheat produced by
different states of India during the year 2010 has been shown.

How much wheat did Haryana produce in the year 2010?

A) 10 lakh ton

B) 20 lakh ton

C) 30 lakh ton

D) 40 lakh ton

E) All of these

36. Direction:

Punjab WM
Haryana W

Uttar Pradesh ﬁﬁﬁ’m
Rajsthan /M,

Madhya Pradesh Mﬁ

Other ﬁ

One /% represents 10 lakh ton of wheat. In the above pictograph, wheat produced by
different states of India during the year 2010 has been shown.

How much wheat did Rajasthan and Madhya Pradesh produced in the year 2010?

A) 40 lakh ton

B) 50 lakh ton

C) 60 lakh ton

D) 70 lakh ton

E) None of these

37. A=400 B =401 and C =1. Find the value of A+B+C.
A) 800
B) 404
C) 802
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D) 806
E) None of these

38. If x=+ and +=x then find the value of 8x2+2,
A) 4

B) 8

C) 3

D) 1

E) None of these

39. Find the like fraction frombelow . & 7 1228111713
A) 5/8and3/8

B) 4/9and4/19

C) 6/12and7/11

D) 5/7and5/17

E) None of these

40. Find the difference in the time shown by the following watches.

A) 1000 sec
B) 1100 sec
C) 1200 sec
D) 1300 sec
E) None of these

41. Which one of the following Roman numerals represents 905?
A) CVM

B) VCM

C) MCcv

D) CMV

E) None of these

42. 6+6+6+__ 45 times is equal to:
A) 300

B) 270

C) 280

D) 700

E) None of these

43. Which one of the following shows a pair of rectangles?

, =L
o L NN
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C)

D)

44.

A)
B)
C)
D)
E)

45.

A)
B)
C)
D)
E)

=>{}

O

None of these

Simplify: 200x50+4-2
10004

10002

1004

1002

None of these

Convert Rs. 2465.25 into paise.
246525 paise

2465250 paise

24652500 paise

246525000 paise

None of these



